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Place a digit from 1-9 in each empty cell so that each row, each column 
and each 3x3 block contains all the digits from 1-9. The digits in each 

inner shape (marked by dots) must add up to the number in the top corner 
of that box. No digit can be repeated within an inner shape. In addition, 

both main diagonals (highlighted) must also contain all the digits from 1-9.

20313810

82461420
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12818

16151910
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9105
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785394261
241568739
693217584
354179826
962483157
178652943
837945612
526731498
419826375


